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1
\I

{6;5,8,2,5} and goa

1
N

{9;8,3,2,0} and goa

1
ol

{2;9,1,7,4} and goa
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consi deri
consi deri
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consi deri
consi deri
consi deri
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consi deri
applicati
Pr obl em
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consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
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ng rule
nunber s
ng rule
ng rule
on of rul

NEF Il ©

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule

e

e
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e

e

{8.1,0,2, 6} and

goal = 6

11

2 produces ( 6+ ( 8* (1* (0*2))))
nunbers = {2,5, 2,9, 0}
ng rule 1 ..
ng rule 2 ..

{2
{9
(8

1
{3

{0

o 0 -

{

{9

- -

rule 2 produces

17161018}

8,8, 6,3}

roduces
161215}

~NT

.1,7,0, 4}

.produces
16101915}

19, 1,2, 2}

oduces

13151813}

'1,5,2,2)

and

(9
and

and

and

+(2*(5*(2*0))))

goal =9
goal =9
goal = 6
+( (8-
goal =9
goal =0

8)

*(9*3)))

(8* (1> (7*(0*4))))

and

and

and

goal = 4

goal = 4

2+2)+(0*(9*1)))

goal =9

goal = 4
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consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri

Thu Cct 27 18:49:17 2011

ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule

{1;7,4,6,7} and goa

consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri

ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule

e produces ( 4 + ( ( 7 -

9,3,1,7} and goal =5

7)*(1*6)))

o
{8,

O~NOOTRARWNE I TORRWNE I ONO O

Yes

?- denmp(100).
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
application of ru
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule

1
o

{7,3,6,9,8} and goa

1
N

{é;3,4,8,4} and goa

1
o

{4;3,5,2,7} and goa

0

{é;4,0,2,7} and goa

e lproduces ( 3 * (4* (0* (2*7))))

.
{3,7,1,2,8} and goal = 4

{2;8,9,2,3} and goal =1
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consi deri
consi deri
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applicati
Pr obl em
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consi deri
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Pr obl em
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consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
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applicati
Pr obl em
consi deri
consi deri
consi deri
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consi deri
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consi deri
consi deri
Pr obl em
consi deri
consi deri
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consi deri
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Pr obl em
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ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of

ng
ng
ng
ng
ng
on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
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{0,3,0,6, 9}

roduces

2 p
(8,4,1,7, 4}
(4,3,7,5,5)

{4.4,6,5, 1)

'5'produces
nunbers = {1,7,9,1, 3}

rule 1 ...
rule 2 ...
rule 3 ...
rule 4 ...
rule 5 ...
rule 5 produces
{8,6,2,9,2}

(84,5, 3,3}

(9,6, 4,8, 3}

and

and

and

and

{6;1,0,2,9} and goa

goal

13

+(0*(0*(6*9))))

goal

goal

goal

4

t((4-4)

goal

£ ((1-

goal

goal

goal

7

3

1)

*(5*1)))

*(9*3)))
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consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
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ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
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{2 3,1,7,0}
{1 0,9, 4, 4}
{8 8,7,9, 9}
{o 8,8, 1,3}
{8 5,7,8, 7}

{4.8,7,8, 2}

pr oduces

é
{2,7,6,1, 5}

{9,2,1,4,4

and

and

and

and

and

and

and

goal =6
goal = 2
goal =5
goal =7
goal =1
goal =0
8 - 8)

goal =1
goal =5

14

(4 (7*2)))
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consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
applicati
Pr obl em
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
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ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of

=
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rul e

{3,

2
{3,

s,

{1,

{2,

.l

1,0,5, 4}

produces
0,4,7,0}

9,7,0, 4}

produces
6, 3, 3,2}

0,4,0,7}

produces

nunbers = {0,5, 6, 4, 0}
ng rule 1 ..

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of
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rul e

{2,
{7,

{6,

]
{4,

.s.

rule 1 produces

7,5, 2, 1}

8,4,5,1}

1,9,0, 6}

produces
3,5,4,2}

produces

nunbers = {2,5,7,9, 4}

and

{2;7,5,3,1} and goa

goal

0

15

(3*(1*(0*(5*4))))

and

and

goal

goal

8

4

(8 (9" (7*0))))

goal

goal

3

0

(2*(0* (4> (0*7))))

and

goal

0

(0 (5*(6*(470))))

and

and

and

goal

goal

goal

9

0

(6*(1*(9*(0*6))))

and

and

goal

2

t((4-4)

goal

3

*(3*5)))
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considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule

{i;6,0,4,3} and goal =1

e 2produces (1 +( 6* (0* (4*3))))
8,

é.
{4,8,5,8,9} and goal = 3

{6;6,0,9,4} and goal = 6

e 2 produces ( 6+ ( 0* (0* (9*4))))
7

{1,7,6,0,1} and goal = 8
{é;3,7,9,7} and goal =0

e 3produces ( (7-7)* (2* (3*9)))
{7,9,4,3,7} and goal =1

{4;9,4,8,1} and goal =1

e 5produces (1 +( (4-4)*(9*8)))

5.
{7,9,1,3,8} and goal =9

{8;6,1,5,0} and goal = 4
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considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule -
application of rule 3 produces ( ( 21 - 1) * ( 3* (6*5)))
Probl em numbers = {4,2,0,0,4} and goal =0

considering rule 1 ...

application of rule 1 produces ( 4 * (2* (0O* (0O* 4))))
Probl em nunbers = {6,2,0,8,0} and goal =5

considering rule -

considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule

1
(6]

{5;1,8,9,4} and goa

1
o

{i;3,6,5,1} and goa

WNERFRIHIONOOUOITRARWNE I OONO

{2;6,6,6,5} and goal = 3

{é;4,2,7,3} and goal =5

{5;2,6,6,8} and goal =7

{2;6,7,6,5} and goal = 3

{i;9,7,5,5} and goal = 2

A OWONRFRPITONOOUOPRWNRERLITONOORARWNRERPITONOUOUIRARWNERINTONOOOPRARWNERITONOOR,WNE |
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consi deri
Pr obl em
consi deri
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consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
applicati
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ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunbers
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of rule
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(6,5, 4,9, 1}

{1.8,2 3, 4}

{9,6,9,0, 6}

{6.9,7,0,0}

{1,5,3,5, 8}

{3.8,4,1,9)

(8,9, 3,6, 7}

{3.4,0 4 1}

.i.produces

and

and

and

and

and

and

and

and

( 3

goal =6

goal = 6

goal = 3

goal = 4

goal = 4

goal =7

goal = 8

0

goal

(4 (0 (4*1))))
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Probl em nunbers = {3,7,4,6,0} and goal = 6

considering rule 1 ...

considering rule 2 ..

application of rule 2 produces ( 6 + ( 3 * ( 7* (4*0))))
Problem numbers = {1,9,7,3,2} and goal =5

considering rule -

considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule

{9;2,1,4,4} and goal =7

{5;0,0,1,5} and goal =9

{4;6,2,5,9} and goal =0

{4;7,5,8,1} and goal = 8

{6;3,5,2,8} and goal =9

{8;4,8,3,9} and goal = 8

{é;5,8,4,7} and goal = 6

NEFRPITONOOUORARWNRERPITONOUOUOIRWNERINONOOPRARWNERITONOORWNRERINTONOORARWNRERITONOORARWNRERITONOORA,WNE|
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considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule -
application of rule 5 produces ( 4 + ( ( 3-3) * (5*8)))
Probl em numbers = {4,2,0,1,9} and goal = 4

considering rule 1 ...

considering rule 2 ..

application of rule 2 produces ( 4 + ( 2* (0O* (12*9))))
Probl em nunbers = {1,8,9,3,7} and goal = 0

considering rule -

considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule

{5;6,7,0,7} and goal = 2

{6;0,1,7,4} and goal =5

{6;0,6,4,0} and goal = 9

{5;5,4,8,3} and goal = 4

GQRPWNRLITONOOORARWNRERITONOORRWNRERITIONOOPRAAWNERITITONOOORAW

1
(¢)]

{9;2,9,3,2} and goa

1
w

{%;6,6,7,5} and goa
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considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule -
application of rule 2 produces ( 6 + ( O* (7* (0*0) ) ))
Probl em nunbers = {8,6,7,8,6} and goal =0

considering rule 1 ...

considering rule 2 ..

considering rule 3 ..

application of rule 3 produces ( ( 8- 8) * (6 * (7*6)))
Probl em nunmbers = {5,3,8,1,4} and goal =0

considering rule -

considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule -
application of rule 1 produces ( 3* (0O* (5* (4*0))))
Probl em nunbers = {8,6,8,3,7} and goal =9

considering rule 1 ...

considering rule 2 ..

1
ol

{6;9,7,7,6} and goa

1
o

{6;7,0,0,6} and goa

NEFRITONOOIRARWNE I

{5;2,7,1,3} and goal = 2

{5;6,4,0,7} and goal = 2

{6;2,1,4,4} and goal = 8

{2;5,9,3,4} and goal = 6

HOoONOOUPRARWNRLITONOORRWNRERPITONOUORARWNRERITONOOPRAWNRERITONOORRWNE |

{3;0,5,4,0} and goal 0

=



hps. deno

consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
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rul e
rule
rul e
rul e
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule

ng
ng
ng
ng

A OWONRFRPINTONOOUOPRWNRERLITONOORARWNERIT TORARWNERPITONOORWNER I TORAWNRERPITONOORWNRERINTONOOPRAWNERITITONOOORAW

{2,
{4,

{8,
.
{4,
{9,
.
{8,

{6,

{1,

4,3,7,3}

2, 3,8, 3}

5,4,1,5}

produces
3,7,5,3}

7,6,3, 7}

pr oduces
2,1,8,5}

0,7,2,2}

8,9,8,7}

and

and

and

and

and

and

goal

goal

goal

+ ( (

goal

goal

+ ((

goal

goal

goal

22
=9
=9
= 4
5-5)*(8*1)))
=9
=3

7-7)*(976)))
=8

1
©

1
w



hps. deno

consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri

Yes
?-

Pr obl em

consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em

consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em

consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em

consi deri
applicati
Pr obl em

consi deri
consi deri
applicati
Pr obl em

consi deri
consi deri
applicati
Pr obl em

Thu Cct 27 18:49:17 2011

ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunbers
ng rule
ng rule
ng rule
on of

WNEFRIHNOONOOUORARWNE I ONO O

rul e

s,

{2,

.é

0,7, 9,5}

9,4, 3,4}

produces

nunbers = {4,9,0, 2,0}
ng rule 1 ..

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule

deno(100) .

nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of

=

O~NOOUITRWNEF |
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rul e

{5,

{2,
{8,

{7,

{6,

.I

rule 1 produces

9,9,9,2}

6, 3,9, 2}

produces
8,1, 8, 0}

7,5,4,2}

0,9,0,4}

produces

nunbers = {0,2,7,9, 1}
ng rule 1 ..
ng rule 2 ..

on of

rule 2 produces

nunbers = {0, 3, 2,1, 3}
ng rule 1 ..
ng rule 2 ..

on of

rule 2 produces

nunbers = {8,1,4,1,7}

and

and

and

and

and

23

*(2*x(9*3)))

*(9* (0*(2*0))))

goal =6
goal =0
4 - 4)

goal =0
goal =7
goal =9
+(( 2 -
goal = 4
goal = 8
goal =0

2)

*(6*3)))

(6*(0* (9" (0*4))))

goal

7

+ (0 (2> (9*1))))

goal

1

+(0*(3*(2*3))))

goal

1



hps. deno Thu COct 27 18:49:17 2011 24

considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule

1
|

{6;3,7,4,6} and goa

1
[00]

{5;7,8,4,3} and goa

1l
N

{9;0,0,3,5} and goa

1
\‘

{2;0,6,7,9} and goa

e 2 produces (( 7+ ( 2* (0* (6*9))))

)
{8,8,3,6,5} and goal = 4

1
N

{i;3,5,1,8} and goa

1
(6]

{6;3,0,9,0} and goa

1
w

{i;6,8,6,5} and goa

WNERFRPIHONODOUOITRARWNERLINONOOPRAWNERITONOORWNE I TNNRITONOOPRAWNRERITONOORARWNERINTONOOPRAWNERITONOOORWNE
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consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
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rul e
rule
rul e
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule

ng
ng
ng
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{1 9,6, 4,1}
{9 2,7,8, 9}
{3 8, 8, 4, 0}
{o 5,7, 2, 4}
{8 9,2, 3,2}

{9.8,8,9,4)

produces

Y
{4,6,0,0,3}

{5,9,2,6, 6}

and

and

and

and

and

and

and

goal =1
goal =6
goal =6
goal = 8
goal = 2
goal =0
9-9)

goal =5
goal =6

25

*(8*(8*4)))
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consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
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ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunbers
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of

ORWNRPITONOORWNRERPINTONOOPRARWNERITONOOORRWNEIIT TOORAWNER I OONO

rul e

{2,

.
{s,
(.
{8,

{6,

.g

8,92, 1}

produces
4,3,7, 8}

9,6, 6, 2}

1,7,7, 1}

4,4,7,5}

produces

nunbers = {3,4, 3,0, 4}
ng rule 1 ..
ng rule 2 ..

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule

WNERFRIHONOOUOITRARWNERINONOOPRA,WNEI

{1,

{6,

{5,

rule 2 produces

7,5, 1,0}

2,5, 4,1}

1,4,9,8}

and

and

and

and

and

and

26

2)

*(8*1)))

*(6*5)))

+ (4> (3 (0*4))))

goal =9
+(( 2 -
goal =6
goal =7
goal = 4
goal =7
F((4-4)
goal = 3
goal = 6
goal =9
goal =1
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consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
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rule
rul e
rul e
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of rule

ng
ng
ng

e
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{5,
{3,
{a,

{0,

X
{s,
{7,
)

{3,

.g

8,2, 1,6}

3,8,4,6}

0, 3, 6, 0}

0,8, 3, 6}

pr oduces
9,8,2,7}

4,9, 4, 4}

4,5, 4, 6}

4,5, 3, 8}

produces

nunbers = {3,3,8,9,1}

and

and

and

and

goal

goal

goal

goal

0

27

(0> (0> (8*(3*6))))

and

and

and

and

goal = 2
goal = 3
goal = 8
goal =5
+((3-3)
goal =5

*(4*8)))
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considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers

%§56,6,4,1} and goal = 2
%é50,6,7,5} and goal =9
%é51,8,3,9} and goal =4
%%50,7,4,8} and goal =6

{5.8,5, 6,2} and goal = 2

e 5produces (2 +( (5-5)*(8*6)))

5'
{8,9,4,2,7} and goal =5

1
N

{i;4,8,7,3} and goa

HoONOOUPARWNRLITONOORWNEIT TORRWNERPITONOORWNRERINTONOOPRARWNRERITONOOORARWNRERINTONOORARWNERITIONOORAWNE

{5;7,5,2,0} and goa

1
(6]
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consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
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ng rule 1 ..
ng rule 2 ..

on of
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
on of
nunber s
ng rule
ng rule
ng rule
on of
nunber s
ng rule
ng rule
on of
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
on of
nunber s

={2,7,7,6, 4}

{0.6,8,7, 9}

{8,2,0,0, 8

{6.8,5, 6, 6}

{1,0,6,0, 8}

NFRPITONOOPRWNERITONOOORWNRERPITONOUIRARWNERITONOOPRAWNE |

rul e 2 produces

={2,2,2, 09 1}
1 ...
2 ...
3 ...

rul e 3 produces

= {6,2,6,1, 0}
1...
2 ...

rule 2 produces

={4,4,4,8,7}

{1,5,1,9, 5)

WNERIHHOONOOOPRWNE |

rul e 3 produces

= {9,5, 4, 5, 5}

ng rule 1 ..
ng rule 2 ..
ng rule 3 ..

rule 2 produces ( 5

and

and

and

and

and

29

+(3*(7*(2*0))))

goal

goal

goal

goal

goal

1

+(1*(0*(0*8))))

goal

2 -
goal

2)

0

6

*(2x(9*1)))

+(2*(6*(1*0))))

goal

goal

1 -
goal

1)

6

0

7

*(5*(9*5)))



hps. deno Thu COct 27 18:49:17 2011 30

considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
application of ru
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule

{5;4,4,6,9} and goal =5
{4;4,3,1,0} and goal = 8
{9;7,9,1,3} and goal = 6

{4;0,5,7,9} and goal =1

e oduces ( ( 5-4) +(0* (7*9)))

-4- pr
{0,8,5,0,0} and goal = 4

1
N

{6;7,3,1,6} and goa

1
ol

{5;7,9,2,2} and goa

e 5produces (5 +( (2-2)*(7*9)))

5'
{6,6,8,7,1} and goal =9
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hps. deno

consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri

Thu Cct 27 18:49:17 2011

ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
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{a,

{0,

;
{5,

{7,
»
{s,
{0,

{0,

{6,

2,1,0,5}

1, 8, 3, 6}

oduces

pr
6,5, 5, 3}

9,7,6,2)

produces
6,7,5,5}

7,9,0, 4}

7,8,0, 1}

4,7,7, 8}

and

and

and

and

and

{5;8,4,8,4} and goa
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goal
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7))
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0

5

(9 (6*2)))
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{

2
{2,

~ o1

{1,0,2,6, 6}

produces
8,2,4,7}

(9,8, 1, 4, 9}

.produces
13131717}

{0,2,7,9, 5}

.produces
14171713}

(8,9,7,7,0}

{5.6,2, 8,3}

rule 5 produces ( 4 + ( ( 7 -
{1,9,4,2,6} and goa
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7))

*(6*8)))

(1*(0*(2*(6*6))))

=4
and goal =0
and goal =5
and goal =4
(4+(C(9-
and goal =5
and goal =9
(9

and goal =7
and goal =4
and goal =5

9)

*(8*1)))

+(0*(2*(7*5))))
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considering rule
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considering rule
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1
»

{9;2,1,7,7} and goa

1
ol

{6;2,7,4,5} and goa

e 2 produces ( 5+ ( 0* (2* (7*4))))

{;;3,9,6,0} and goal = 8
%551,9,5,2} and goal = 3
%559,9,4,9} and goal =1
%?54,8,6,4} and goal = 2
%é50,6,8,6} and goal = 4

{6;3,1,5,6} and goal = 4
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rul e

{2,

.
{3,
{6,

5
{s,
(.

{7,

.é.

7,9, 6,0}

produces
5,4,0, 2}

1,5,4,1}

produces
3,7,6,0}

2,7, 6,8}

9,7,9, 5}

produces

nunbers = {5, 8, 3,4, 0}
ng rule 1 ..

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
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.é.
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4,8,1,5}
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*(9*(9*5)))

(5*(8*(3*(470))))
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+((1-
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7-7)
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goal =1
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2 - 2)

goal =9

(8 (8*7)))
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%
{3,

{1
.
{5,
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7,5, 3, 8}

8,7,6, 7}

2,0,2,4}
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3,9,8, 7}

2,6,8, 1}

produces
1,7,0,6}

1, 3,9, 0}

8, 1,1, 9
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and

and
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+ (4 (0" (0*6))))

goal

2 -
goal

goal

goal

2)

0

7

0

(7 (479)))

(4> (2> (0*(2*4))))

and

and

and

and

and

goal =6
goal = 8
+((1-
goal = 8
goal = 8
goal =7

1)

*(2*6)))
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{1,

s,

%
{2,

{4,
.
s,

{7,

(s,

X
{2,

0,7, 9,5}

2,7,0, 8}

pr oduces
5,9,9, 9}

4, 3,5, 4}

produces
0,4,2,5}

1,6, 6, 9}

7,8, 6, 9}

produces
3,4,7,8}

{2;2,2,6,8} and goa
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(8> (2> (7> (0*8))))

=2
and goal = 2
and goal =0
and goal =1
and goal =5
(5+((4-4)
and goal = 6
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goal

goal

8 -
goal

8)

4

*(3*4)))

*(7*(6*9)))
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e

{3,

o
{9,

{6,

x
{2,

{6,

X
{3,

a
{5,

{0,

.é

8,3, 1,9

pr oduces
3,4,1,0}

8,9, 6, 5}

produces
1,3,9,7}

8,4,0,5}

produces
2,3,6, 4}

produces
4,9,0, 1}

4,1,7,7}

produces

nunbers = {7,9,0,0, 9}

ng
ng
ng
ng
ng

rule 1 ...
rule 2 ...
rule 3 ...
rule 4 ...
rule 5 ...

and

and

{i;4,8,4,8} and goa
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+((3-3)*(8*1)))
goal =7
goal =0
6-6)*(8*(9*5)))
goal = 3
goal = 8
+(6*(4*(0*5))))
goal = 4
+((3-3)*(2*6)))
goal =7
goal =7
+(0* (4 (1*7))))
goal =6
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rul e

(1,1,1,9 1)

{4, 4,45, 0}

(2,2,1,2, 4

.é.produces

nunbers = {3,2,8,7,7}

ng rule 1 ..
ng rule 2 ..
ng rule 3 ..
ng rule 4 ..
ng rule 5 ..
rule 5 produces
{9,3,1,7,3}

on of
nunbers =
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{9.0,6, 4,0}

{5.5,8,1,5)

produces
3,9,5,9}

pr oduces
57,1, 7}

and

and

and

and

and

and

goal =7
goal = 6
goal =0
2-2)

goal = 8
+( (7 -
goal = 8
goal = 8
goal =1
+( (5 -
goal =5
+((9-
goal =7

38

7))

5)
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(1 (2*4)))

*(3*2)))

*(8*5)))
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NEFE Il 0N 01
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{1,2,6,9,0}
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{3,4,9,1, 0}

ng rule 1 ..
ng rule 2 ..

on of
numbers =

rule 2 produces

{7,8,8,0, 1}
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ng rule 2 ..
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{6,0,5, 2, 6}
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{0, 8, 3, 4, 4}

(3,1,1,6, 7}

{0.5,0,0, 4}

{3,9,0,6, 5}

. oduces
6,1, 7}

~N B
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-~

{
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2,2,5}

o U1

.pr
161

{9.1,9,6, 4}
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goal = 3
+ (4
goal =1
+(7*(
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goal = 2
goal =1
goal =9
goal =1
6 -
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+((7-
goal = 4
goal =5

*0))))

*0))))

*0))))

*6))))

5)+(0*(3*9)))

7))
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consi deri
consi deri
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rule
rul e
rul e
rul e
rul e
rul e
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of
nunbers =

ng
ng
ng
ng
ng
ng

=

HOoONOOUOPRA,WNERLITONOORWNRERINTONOOIRA,WNE

rul e

(3.2,4,6, 1}

(6,8, 1,8, 9}

{4,0,2,1, 6}

.i.produces
{8,2,8,1, 7}

ng rule 1 ..
ng rule 2 ..
ng rule 3 ..
ng rule 4 ..
ng rule 5 ..

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of
nunbers =
ng
ng
ng
ng
ng

=

HONOOUIRARWNRERLINIONOORARWNEI TOORrWNEI

rul e

rule 5 produces

{1,3,7,7, 4}

roduces
171212}

O o1 "
OT

{

(1,5, 4,4, 3)

{4.1,0,0, 0}

.i.produces
{2,2,6,6,1}

rule 1 ...
rule 2 ...
rule 3 ...
rule 4 ...
rule 5 ...

and

and

and

goal =0
goal =7
goal =0

40

(4> (0> (2> (1*6))))

and

and

and

and

goal = 2
+( (8-
goal = 4
+((7-
goal = 3
goal = 4
goal =0

8)

7))

*(1x7)))

*(1*3)))

(4> (1> (0> (0*0))))

and

goal =7
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consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
applicati
Pr obl em
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
consi deri
Pr obl em
consi deri
consi deri
consi deri
consi deri
applicati
Pr obl em
consi deri
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ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
on of
nunbers =

OPRAWNERITONOOIRRWNE I ONO

rul e

{7.1,6,9, 4}

{9.8,2 2 9

.é.produces
{7,0,2,5, 6}

ng rule 1 ..
ng rule 2 ..

on of
nunbers =
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
on of ru
nunber s
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
ng rule
nunber s
ng rule
ng rule
ng rule
ng rule
on of
nunbers =

AOWONRFRPIHONOORWNEII TRITONOORWNRERINTONOOPRARWNERITONOORAWNE |

rul e

rule 2 produces

{(5,9,86, 3, 9}
{(8.5,6,0, 6}
(8,9,7,0,9

{3,4,0,9,4)
. pr oduces
8, 6, 8, 4}

X
{2,
{2.0,8,6,5)

.4.produces
{0,1,3,5,7}

ng rule 1 ..

41

2)

*(8*9)))

+(0*(2*(5*6))))

(3> (4> (0> (9*4))))

and goal =0
and goal = 9
(9 +((2-
and goal =7
(7

and goal =4
and goal =9
and goal = 2
and goal =0
and goal = 8
and goal =1
( (6-
and goal =5

5)+(0*(2*8)))
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considering rule 2 ..

application of rule 2 produces ( 5+ ( 0* (1 * (3*7))))
Problem nunbers = {4,7,8,3,8} and goal =9

considering rule -

considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule

{5;1,0,1,7} and goal = 3

{6, 5,5,6,7} and goal = 4

{i;3,1,1,7} and goal = 6

{f;6,4,2,6} and goal = 8

{4;6,7,5,9} and goal = 4

{5;8,4,6,4} and goal =9

{5;2,8,7,2} and goal = 2

A OWONRFRPINTONOOUORWNRERLITONOORARWNRERITONOOUORARWNERINONOOPRAWNERITONOORWNRERPINTONOORWNRERITONOORAWNE |
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considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
application of ru
Probl em numnbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numnbers
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
application of ru
Probl em nunbers
considering rule
considering rule
considering rule
considering rule

{1;1,5,1,9} and goal = 8
{6;9,4,7,4} and goal =5
{5;5,3,1,2} and goal =5

{4;4,3,6,2} and goal = 3

e roduces ( 3+ ( (4-4)*(6*2)))

5 p
{9,3,0,6,1} and goal = 8

{6;7,0,3,5} and goal =5

e 2 produces ( 5+ ( 0* (7* (0*3))))

)
{9,3,5,3,0} and goal = 8

{é;4,4,1,8} and goal =0

e 3produces ( (8- 8) * (4* (4*1)))

Y
{7,8,7,3,4} and goal =9

A OWONRERIT TWONRERPIHTONOOPRAWNERI TNRPITONOORWNEIN TORWNRERPITONOOPRWNRERITONOOORARWNRERPIHTONOORARWNEINI ONO Ol
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considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule

{5;0,5,6,3} and goal =0

e 1 produces ( 5* (0* (5* (6*3))))

i
{8,2,0,0,1} and goal =6

1
o

{8;8,3,3,3} and goa

1
-

{2;0,0,7,7} and goa

e

{

roduces ( (( O/ O) +(2* (7*7)))
,8,4,3} and goal =7

O T

1
()]

{?;2,6,8,6} and goa

11
A

{6;0,3,4,5} and goa

e 2 produces ( 4+ ( 0* (0* (3*5))))

é.
{9,8,5,2,7} and goal =7

{1;8,4,3,2} and goal = 4

GORWNRLITONOORWNEIH TNRPITONOOPRARWNERITONOORRWNEIT TOOPRWNERITONOORWNRERINTONOOPRARWNEI TR ITHOoONO O
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considering rule
considering rule
considering rule
Probl em numbers
considering rule
considering rule
application of ru
Probl em numbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
Probl em nunbers
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule
considering rule

{6;5,1,7,2} and goal =5

e 2 produces ( 5+ ( 0* (1% (7*2))))
,1,4,0,1} and goal =9

-

{4;8,1,4,2} and goal = 3

O~NOOITRRWNRERPINONOOPRWNEI TNR I OONO

Yes
?- halt.



